
Add and subtract mass
Year 3

Name 

2

3

What is the difference between the mass 
of the strawberries and the mass of the 
cherries?

An apple weighs 90 g.
An orange weighs 15 g more than an apple.
What is the total weight of the apple and 
the orange?

What is the total mass of the strawberries 
and the cherries?

1

g

g

Complete the sentence.

Sam’s suitcase weighs            kg.

Sam puts extra items in his suitcase. 
The extra items weigh 3 kg. 
How much does Sam’s bag weigh now?

kg g


